B.A /B.Sc. 57 Semester (Honours) Examination, 2020 (CBCS)

Subject: Economics
Paper: CC-11

(International Economics)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are requested to give their answer in their own words as far as practicable.
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1. Answer any six questions. 5x6=30
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a) Distinguish between absolute cost advantage and comparative cost advantage

b)

c)

d)

e)

and discuss in brief which one of the above is sufficient condition for
international trade.
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Define protected trade policy and examine the effect of protection on the
distribution of national income among factors of production.
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Explain the concept of factor intensity reversal with the help of suitable
diagram/diagrams.
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Is there any possibility of trade between two countries if they have identical
factor endowment but different taste and preferences? Explain your view.
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Explain the effect of imposition of import tariff on terms of trade and
domestic price of tariff imposing country.
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f) “Balance of payment always balances” - Explain.
“AIFEOF (T M2 SACY AT - T 341

g) Compute the size of the foreign trade multiplier when there is no foreign
repercussion.
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h) Write a short note on Bretton Wood system.
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Answer any three questions. 3x10=30
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a) State and prove the Heckscher - Ohlin theory of trade by price definition of
factor abundance.
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b) Define optimum tariff and explain how optimum tariff leads to an increase
in the welfare of a large country.
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c) Explain the concept of gains from trade mentioning its two components and
show why under developed countries cannot derive full benefit of free trade.
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d) Define flexible exchange rate system and analyse the merits and demerits of
this system.
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e) Derive offer curve with the help of trade indifference curves and show how
trade equilibrium in two country model can be explained with it.
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